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I 2 mwn: o5wnn 1201 7's solution(s) to get around the MR of N
a  for nvnwi: mark off 2 spots with cleaver (on each side of nvnwn n11) tear out hair (& leave in place) for slaughter

i

note: he may not use a »93; mwn should be read "p'21p%”, i.e. make a mark (with the hand) for the cleaver

b for checking for oy he may tear out the hair (and leave in place) in order to investigate

i

note: we determine that this is n>'nnaY, based on n"wnn 12 *01 1's explicit ruling about wool that is caught in the
ear; also, from the wording of our mwn, 191 compares this to nvMwY

1 cannot be: compared to teach that here, too, hair must be kept in place — that is understood via 1"p

2 rather: must mean that it is also n9'nn3Y, as is the case with nvnNY

I 17's ruling and the subsequent discussion
a 27 1350 follows oH1wnn 12 01 1

1

ii

iii

iv

Question: posed to X110 "1: what is the n3Yn in a parallel circumstance on 210 DY?
1 Explanation: if he wants to slaughter the animal on v, may he rip out hair to make room for nvnw?
2 Lemmal: is the leniency since pulling out hair is not considered nra (->"o¥, as it is uprooting)
3 Lemma2: does he hold that w9 in::mi but it is permitted as 112100 1RY 927 (29Mn also on V™)
Response: ask Y981n "1 (elder student of 11, maintained his traditions)
1  He answered: 21 ruled like n%1wnn 12 01 1
2 x117 27 then permitted on v"y
(a) (explanation: 0" understood from the ruling that it applies even to ntn jnra n”pa N33, where we would
have reason to prohibit as it is TR 939 11oN = must be due to P1aNN WRWY 927)
3 Support: R0 of 11 allowing same “nwon” on ™
Challenge: 11 seems to hold that 1108 11901 1°8W 727 — from his ban on squeezing cloth stopper into barrel
1 Defense: in that case, even v" would agree to prohibit, as it is W p>oa (per Ram »aR’s ruling)
Challenge: we have dispute (with or without tradents) of Yxmw 17;
1 27 07 "3 150 (MOR 11NN IRY I127)
2 SR W™ 1290 (NN PINN IRY 11T)
Rather: 11 certainily holds 10X 11201 18w 727 but permits
1 7152 because w9 is not considered 1
2 2v oy~ he is uprooting in a “backhanded” fashion (7> 1nx53)
(a) Challenge: (it is considered “usual” fashion) — if someone uproots a feather from a bird’s wing on nawv,
cuts off the tip of the feather or strains off the feather-hair — he is liable for each of these
(b) Answer: in the case of a wing, it is the normal way

b Assumption: nvywnn 12 °0v 1 must also agree with 27's (later) ruling re: 1200 RY 727

i

ii

Challenge: n9ywnn 12 >0y 1 rules that if a nmMTR 119 has 2 hairs that are red at the root but are going black, he may
cut them off without worry - in spite of DWTpa NI NONR
1 Answer: 019 is not bound by nr Mow
(a) Challenge (8117773): v. 1 cross-applies and there is an Ny MR even with bovine “hair”
2 Rather: nnyR 779 is a0 PT1OWTP > NO NP NOR
(a) Challenge: 8™ rules that thre is an N’y MER on N’an p1a
(i) Answer: that is 12770 MOR
(ii) Challenge: but there is a rabbinic m’R here
1. Answer: they didn’t apply it to 1R 119, which is rare
3 Challenge: why not redeemd it, cut it and resanctify
(a) Answer: it is expensive
(b) Challenge: redeem it at symbolic amount, per YR1nw
(i) Answer: YR1W’s ruling was only post facto, not as a solution
Possibility #2: 271 may hold like n91wnn 12 Y01 *; but the latter doesn’t necessarily hold like 17
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